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—fix A BHiz
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x—1=V3x-5
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1-V3 <0 %n7T
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__ AG3+D
(V3 -3 +1)

=2/3 +2
LoT x=2V3+2

x=2V3+2

[2]

y=x2—2x+2
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B, DEEEETL FIMOBWIRRTH 5.

C O 2 T 1
YENGEIC — 2 72V ATR B 5 &
FOTEEIZS 2, -1) £25DT
y=(xr—-2)-1

C O R L O AR BN 5 &
ZOHMEA (2, 1) T, FISMOBWHE %2 %,
Lo TRD S 2 KRB
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2023 (%#15) & E

—fix A B Bz

[3]

sin145° = sin (180° - 35°)
=sin35°
c0s125° = cos (180° = 55°)
= —cosbd’
= —cos(90° - 35°)
= —sin35°
tan165° = tan (180° — 15°)
= —tanlb’
£oT
sinl45° + cos125° + tan15° + tan165°
=sin35° —sin35° + tan15° — tan15°
=0

[4]

AEGERLL Y
CA2+ AB?—BC?
2-CA - AB
8 +9-7
- 2-8-9
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sin?A +costA=1 L1
sin?A =1 —cos?A
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80° & b sinA>0

SinA =
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CcosA =

sinA =
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2023 (5#S) FE

—fix A BHiz

fEIRE 2

[%105]

AB:AC:BC=1:2:V3 £ LA=60°

AP=x, AQ=2(1-x) &V

S = % cx - 2(1—x) - sin60°
e
= %x(l—x)
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/3

—x(1—-x)
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0<x<1
S)=x1-x) £B<,

flx)=—x%+x
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2023 (%#15) & E —fix Al B Biz

[1]8x [2]12x

(1]

BTV — 7O HBOEEHT 6X60=360
L7 Vv—7oREoEFT 8x20=160
EXINORSS-{E

360+ 160
60+20 09
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u = 2400
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2023 (f#5) FE —fix A B BiE

M4 < 1 >FBRLEBESEZESZLE [% 5 ]
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R H10ME 25 3ME & BHAGDEIENE

C,=120 (fi)
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1 2ODOBABIZR L T61HD %,
EHAEOBOHIZI0H 5 DT

[2]
6x10=60 (fif)
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ETAEOTESIZ1I0H 5 DT

[3]
10 (fi#)

10 (1)
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TRCOZAEILBEIETLZA (2], [3] ZBIFIEFI v,
[4]
£o7T

120—-60-10=50 (f#)

50 (1)
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2023 (%#15) & E —fix Al B Biz

M4 < 2 > BRULEBESZESZL [%104]

AP=xt B L, BP=x-6
HREDOEH LY
x(x —6) =4
x?—6x—16=0
(x =8) (x+2) =0
x=8 —2

[1] x>0 &b
x=8

OPHHEMO BIZTALAEMRDLEC LT L,
M AIOABCIZE A4 DT
AB=0C

00'=5 OC=3+1=4 XV
OC=+25-16 =3

£ - TAB=0C=3

[2]
AOAP «» AO'BP
PA:PB=0A:0B=1:3
yo<T

1 _ 3
PA=3- — = -
4 4
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=
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2023 (f#5) FE —fix A B BiE

ﬁ:ﬁiELE 1 [%3,£X10]
A B C D E F G H [ J
4 3 2 3 2 2 4 3 3 2
fElRE 2
(1) [& 3% 3] (2) [ 4 1Hix 3]
K L M N 0] P
2 3 3 been instead lot of
IRE 3 [%4 % 3] e84 [T45%2, U5 ]
Q R S T 1), 2)
4 4 1 A B
g
~
C 4cm D
U
1
fRIR8 5 (V45 W45, X84, Y8A&]
\Y W
One thousand one hundred fifty five 2
X

HET AL DNy 7 ) =i, FIRE IR { Do HEDK, filiz b A L O,
BEPIET L% E,

Y

They have difficulty having food and water brought to them if the elevator shuts down.

R
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2023 (%15 & E —fix A& B HiZ

&8 [% 6 mx 2]
3 4
a9 [% 6 mx 2]
1 5
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